EARAROBREBRT —5 XN—ZXBISH—F

202358148 (B) 10#E6H

ERAES 3BISR YS5R4mE (B

(518 EE

=

EEE=CIEE

18000 R

[AE%] 17 :18,400,000 §  237&:7,400,000 .~ 3 75:4,600,000 437&:2,800,000H  53&:1,840,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=~ = AT 145, - . . KIEBN (FR)
10 9| 75VASLT7RT [B] R "5 e e (4+520) BIAEHD ()
RiF4—=TFAVNT~ I pabuke
S} 4 5 | EHET 1:45.9 4-3 34.8103.3| 5 50 | AREEL ()
20111 LRI TR 58.0 N © HAoT
RE—UR B:E—FTO-T4X /=Y Tr—1I
NS 4 | HLFA 1:46.0 9-9 34.0(101.9| 3 M4 | NSk (EH)
3172|1| ZA—WyvIty— R G0 Cy | EEE
RIN—ANR BRAY—bYVIY— MEZ Y R
— ft 5 | EREA 1:46.1 5-4 34711011 6 | 428 |REEX (FH)
418|134 X—Ib 56.0 ) w4 | B HEL—Zh—2
R:F4—=TFAVNIT N B:T7I=—)LEILIY HEIT7—L
— g —n FREFAE 146. - . . IS (FR)
556 ~yFA A YT A 4 4 5}5.01 1{116)3 1-1 34.3| 98.8 1 ézg;) Eﬁﬂﬂé?
RiF4—=TFAVNITN BiF b yXTA4—Y #Hiatt /—RelLX
= » {ELARKE :46. = . . BAE (/)
A . EEE R R 5T K07 S R Rl Il B Bl v
RiFA—TAVNRT N B:E—aVI—Y MEZ ST K
P st 4 | SEEARA 1:46.4 6-8 34.7197.8 | 11 | 406 |RLHESE EH)
7|57 | TYUF~O—EF 5.0 oP) ) W 559Uy k95T 5T4F
R:O=ILRYwT BRARIv—5 EvI Uy RT7—L
N A S 157 4 5 | BHEXA 1:46.5 6-6 349 9%.8 | 2 486 | EEERE— (RF)
818|12| AINAZIL/ T3 58.0 ) o | @& %I
RFRF BFYTI—RRIASI INANAT7— LI
~, 0 P TR 146. - . . HOEEAESL (GE5m)
7d—=0Ov bk i) 1(74?:? oo | PO %) B (4_9;) ﬁﬁﬁ%ttww
RIN=YITSA BIFARITARS J=HUTr—1
Y GisiE :46. H . . HESE (FRN)
e@HITZ 4 5 an 1(14/62)6 9-9 34.6|9.7 | 9 :1_4(3 L
RAWTT—II B:IASILRRI— #HBT7—L
S5 =~ _ 4% 5 | FAtEXR 1:46.8 13-13 341 93.3| 7 468 | ERSR ()
IIA=YTUY 0 (1 1/4) ) | @ #BL—2h-2
R:F4=FAVNIN B:OVFRF4v R HBEIT7—L
=~, w EHBE :47. - . X wBOENT (FRN)
NeS Y2 N—Y H 6 B (11417/18 12-12 | 34.6| 91.4 | 12 ig;} MEE;.
RIN=YITSA4 B:N\—5YXOIY e
VOl hLAY i o6 | HREH ) | - - | 0| e |ER G
RiLw RZIN—5 B:FS5U 0) s A
[ BN
Eh' 47.1-35.3
NOYIA L | 12.4-11.0-11.3-12.0-12.1-11.8-11.4-11.2-12.7
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 9-2,4,1,13(5,7,12)-(3,11)6,10-8
40—7— 9-2,1(4,13) (5,12)7-(3,11)6,10-8
o ILRE
B B 9 1,110 | | 94 R 1-9 1,960M3 3= 1-6 4,260/ 3EE 1-9-1 20,470M4
g B 9 310 9-11 1,600H Fs E 1-9 8,230 3EH 9-1-11 151,350
1 370 -1 1,600H o= 9-1 15,880M4
11 280M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




